i L 1=2  Ju
i- Cow*wte 30 xl+ iqx_i_g% ax 5 (“.',‘,_)’1_'_“3_-

c oty 98 = L’ 2—1-x+}: +qg, - (41’4 ug

. We X+F 9 dusdu 4
-9 u,:s 1
_:Su' | AW:S |- g o iwux' I
w= ((L\’.'-I—Mg. w:1(lu'\1+9£a) )?é‘ dx ) 3 +x?
w=14
\ S | 1 A\Lm 2
_ ) L. > 2 taw {-, 8 _
oy F (%'\1"{' 1((-/ # lu=y M7‘ Fon 7')
et 8. T )
® (Lo @) 2. ! 7 7 ou B
(£M ?) -1 -j_*(_\%r)’t
Or..
u._.’% lp:ﬂ ) 1
B | | uag
. dl&;:\Y A\L t
. Xu,:’lf (L) 4ud w=1“‘ﬁ)z+l’m ’% ot - seco
wok: + t (+# (tor 0) = Secto
\ w=$ 4 (#9
_ @S — Modws tam o 4 duo T Secto do
u,ﬂ(:‘;\ 1 (1 4) .:—'Lw_{;am.@-.l {:M"l%’ize
| Sms ¥ secto P X““ ¥ st
TR N I R T3 ey
w=1% W= ‘3 L”., k=%
?’ ws=1} W=t
L. g T
L (L't 1) @

2. deb Pb) denobe the uwmber of backeria in o sample ab bime t.
Luibiolly , PO) = doo and increases ab o ke AP 25€”" whok is the
dt

Populakion ok =50 ?
GOOL'- P(FDO) — pCt) i ”

Hove: P¢0) = Loo, Wq S g-t‘fcﬂ% = Pet)
(§03) (9)(3"

S 3t - 9 . 3@, tr e =P,
j_oo pto) Do - __y_-l—c = No- —-I-CﬁC:%s—g

4 PN ek+ 22 aple): 2.g"% 280
v 9. dx18°



i ’5_64
3. ), -’!-‘3313 mfl(ag 6)dy = ¥* 63|

(A
m#:%'é - (1*-64) - (2% 6.2) =3

b
More goealy £ )y Ia T

L% R ARy .
% 9xy2 W X g XH o9 <A+
b joWd YO 2\ 2T La-
( ‘/ 2 =Yy '1
g S’i i + ki m%= at A Tgara = B o5
' —(2xF-2)
= '.{." QQ"('}) [
{
2 L.| Yy B L| 3 A 8 _ 2 _ 2.,
1‘ = So A AK ) L . (90-0) (X4 - p & ' p R — X-\ X+
Y oy _ 4 a4
A2 B 2t
) ! g B
Lo Lo - do)za(futen- ') (= 5
b K-\ o X+I| Q

=0 =0
= O_((Qm —}L-(Ln g\—(M\-Mn\\: 0/\(;;\-(1

5 S‘ sa’ytax il 4 U 1
0 QLN (D (X+3)

ax?y 1ax 431 § 1 N 1 N 1

() (X2 (X4 3) AR A% i3
sefytachdl 2 ) g sofalaomdl o o
(4 42 (14 3) 2 T ) (43) -1

_ v 1 1 1 4

§ 4 3 A = Intxer |+ Gaixeat-Qury

L 30 A% S 'A% a3 m\"

1
:Umlhgn)(x&l\ X+ \o = I (1'3"4) - % (2:2.3) (QMM)': —

lmt fn 2" - 0w L3 'y
da-»



6. (& _dn, ()

eal—_ex
(Q’tx)':l
j ¢t dx wzelﬂdw:@atdl#Jx:%l; ~
(6“)1 TL
5 d :S 1 C)W:S i dw=g'—i+}_dl~
(ml— W Wt - w Clu-94 o
L oA, 8 4L igpL =4
wlw-1) w w-1 (0-4) :

= bali-t ~falwtl ¥ C < Un ‘|“"" ) 4 C=\dn(l
wl

J N ,
7. di (1 oi"::% )2 2% .h"-é LMWVLOf' ‘j(.x) on

P, |
ocelo,1] Using L. jp ds :Soﬂi’r(g}'{)‘dx. Hink., Recall, (fam x) .
o "

sect o
5.\“”&5 tda = Srﬂ\f{j_ cosgr.smoc)l - )z da
Cost aL 74
! ]
(i)g 9f'-(9
5 (1 - Co5 o sinal) o du Ssecoc_’camt dx 9 g
0 Cos%t o 0 e*

:5' (Lam x)'- tonx Jrie 5' e’ (ban 2~ tonz{e) dx

0 e* °© o (e
 tomx (b tend  tolo [ fad
- QX o ; Q; /i Q

n - ! 0
g, fooy: x(Z "le' ) tam . 9 S_i}u)doc =S_‘ftxidl%g:fm<\x

‘*) dpm\, :F(’-’x_):: - ¥()¢') (S 'F(fl-) 5 Odc\. _ .z;\‘;-_::.\: bmc_x): _ bO"\li\
Py, )

fe-ay=- 1 (£ 26 )l){:m -x - x(E 22 )(- tam ¥)= -Fexy @

Si § o0 do - S fon dx 3 g fem d - S;f(zl 3 So' {oo &

A I T P g P

W+M-



<o
C—
o
®
Q-
=
[
-
S
tl
=
=
o~
=
A
Q-
s
|1

-,‘_L I 3 I = Z-(JUL

o cf 20
y-C u,:oﬂte) u:], u—;i £1 g
I S’IL--'—#-JM:\Y (‘de::{wocz‘%ﬂ—’
= X w= (ngg) -
-1
2
Qog_bKT—“ =) bn:K
L}
fog, e =lIne=n b eze 8 Lo
@ni*—@oge L -nge*-1 pyn-o0
% Y
o. So LSinX Cos5x dx :5:8021, Sin(2x) dz 5inl2a) = LSiv N oSN
T W= 3 du=9xL
= ji'(ﬁ):g

Jv-sin2x dx 3 *C;’L;”’ -V

g8
—esax [ (- wmax 4y
0

_ qb b b
e S:.dv: wv |0 - g th»: a o 2

a 3
1 *
1 (j’/“casax,.c)x-—xcosnxl “)
] (o}

o

W\

\ % = -

il AN (T |

ST Geseene))
7,8 S () 1 - - T A

:’;(( 5'1 . \r;d \*a_\ 2 2 4






